Prelude

or horn, two violoncellos and two pianos . $
J_ 63 f b (2012) p Nina Senk
hH
yr  —— — % - = —n s - o — ]
Horn ey 1 % -1 % % 1
\i\)} x I I 3 IS 3 IS 3 IS 3 ]
con sord. ‘\/—\ [ e /‘\
—_—
metal) b-ee- = > b, ~ ——H8 < X
L (b oo e e o e g ez P e o >
. Yoo O o 17— T T 1 1 1 Z—1 T Hgrlgs & 6—= €
Violoncello 1 y ) — — . . . — 7 i o AL %
ks 3 x 1 L Il T 8 = 3 = 3
—3— 3 .
P ——— mp—— | PP —_— mp—my —JS>
con sord. SV ; . 2 z
mea) _be b [ e T £ £
. e T T T T T T T T y /- T i C— 1 % I €
Violoncello 2 I ! : — — /= : % ‘ % 1 %
~ —3— —_
PP —— mp—— pp —_ mp — mf<<f> rp mf mp mf>1’l’
n on the strings. N 3
D" A ) /A e % = e
O - - k= 3 ¢ ] = 3 I % z Z A ¢ z
4 /i X% /A Z 7 T L d = /1 L d 1
ANIvA x s 3 s 3 L p— bA o & > S X3 b)ﬁ'
D) *O_ —o- — —— g5 o z. ———tt
. p T T —_— -—
Piano 1 BEEEES  —— )
on the strings —
ra O £ /3 I T4 — ————— % =
) O - - k= 3 03 T X U & 0 ks 3 - Y]
Z ) /A 1 /- o = | % %
X x % X Z7 X X = 3 = 3
" — # % 7
*tremolo on the string with a finger
(irregular, free small (accidental) rhythmical patterns possible) (<nPed-__ —_—mf —
n on the strings—_____,.
D" A ) /A e % e
e O - - k= 3 - ¢ ] ¥z % ¢ ] Z
4 /i X% /A k| 4 4 1
< s 3 < —— 4 »V.g i 3 bg- - m
Piano 2 P I mpy — f with the fingernail e mf’
on the strings
o6 % re % re ——t—F g\
) D ¢ — - - 3 - 1 0 Em_n L 3 - O ¥ TV — —1  —— v
— 3 4 4 4—< i <
E i o i *tremolo on the string with a finger cconped: ~
For all instruments: Trills ahvays semitone up (irregular, free small (accidental) rhythmical patterns possible)
7 A Tl oneeeenreesnsesnennnnn @ LEMPO
b A T % T T
Hn. Hpy—— T % = I = I
\i\)} 1T I 3 I I
e 17 & 1 1(] /11
7 o0 "
Sy, o
L g Ll b s . be o
g~ e e ST e f % ro n
V l V4% el I N — - 7 T T o k= 3 ¢ ] 73 b 3
C. T T — "i 4 \P ‘F"
— I
rp —_— mp
—_—
—3— P b
a tempo L s, 5y, ..
po L= T o :
= = L = La T T Il % & — Il il T T
T T Il T o . g TH ey > SR P K o T T A ¢ ] 7] I Il
}  —— o R L m— t t % e —
T T . gl x T T T Il s 3 —
= = T NG 5 o — —F
_— — 2 ; —_—
P mf — f o —_ mf —_— PP - 'f ey — f 'f = » ‘/f
pizz. pizz. pizz.
b a tempo ~ N ~ ~
N giss. over several strings > . > > . >
7 I I Jr— y 2 - ‘i = o Ll = - . & h o ¥ V3 (V™ & L¢3 ) s
=£ % —5—= =0 ’ z o — < = 4 =
DS S mmm——— o a\ %
————
Pno. 1 e 4 P g st $ 4 nf » s f 4
with the fingerail
rax — - % /)
)—% o ¥  ———— % ¥ o= 5
—=e " s f— s
7. % 7 (secco) ©
_mf — i O
7
o} J L pr—
b A T % Z 12 Z il
V4% Z A I K3 ¥ - e 3 - y 2 ke 1 L o y 2 A ¢ B3
fo—% P — —% % 73 - % - %
VA g+ AT T = x »k}y = 3
!) K o & [~ f (hit the strings)
. ith the _
3 P——— . wit —
Pno. 2 mp Serach along he iinls) ———————— knuckles — — P d » ——
rax Il % I T T T I il 1T
| ) e & y 2 - > S 2 e T T T T T 7 - - - ) y 2 LI -
Z T - y /B Y I & T % -
. s 3 el b'\‘ s 3 Y
mp @ (secco ~ P L —
P———— mp 8




Hn.

Pno. 1

Pno. 2

Hn.

Pno. 1

Pno. 2

Til..uoscrcreenees @ tempo

N.Senk Prelude

By 2> >> b oo oooooooooooooooooooooooooooe- -
D" I (73 & % T T T ]
VAW 3 B e Ty - IS 3 - T - T T 1
L85> i i t t t i
g === —>

—3— clLbatt. PP
mf ————p
f [ . clbatt f

13 - b#/' E o °

B yhe e ybe ol ¥ . fepdteprd i ————1
ya— - G Lo 2 DI s L =" - i t ~ 73 o L ——
o2 % % < t T — a1
!)V = 3 X x o/ ﬁ.\ o/ u-\lq.\

mf’ J> m.sul pont.- , mf = mp o mf\<'/
it cccvueeennee. | @ tempo = |3
n > > .- i # Vg o
P rcl sY % X 3 X 1 - T

VAW 3 - A ¢ ) - F IS SR = I T v 2 I
A 3 % i = jm -

\d T T 7

—_ mf ————p
y mf————————p o> p—— mf
Tl coieeeeeeecnees @ tempo

13 I A} — on the strings P

) strings — 3 ; glis. over several strings = = = = = = = = — @ @ o e mm e mmeo oo oo oooo- -
D" A /1 Il I ol 1"y /A
VAW 3 e ¥ 0] . r X3 V& r 1 k= 3 2 b o] r N y 2 - -
4 > e A L 4 L y /N == 1 -
T —be -+ ¥ % ¥ = o —x
oJ 15m = .f 7 q
>— mp P——f—0p mp > mp =
ord. ord. ord.

)\'h 4 ﬁ? = 10 = % — x = — -
4 —% . - s Lo
!) — — M

b/ P P i p— N
AP ma- - ) 8- - I ! > 89
5 on the strings— - - - — - , 15" ) 4 1 AT | tempo }x " > < ~
IS ord, o ord. . e o \ﬁ#
5 S i, . stings’ . 2. . e e e SPE o
D" ril Il % I > Y 7 blg o T o/ T

s = P L — ¥ % < < - < < # £ be t t ¥

8N % o = /A -~ /A - ./ o/ s o/ kel 7 -~
VA 3 T ks 3 Y Il 1 0 T
o = te - # ;EF
f p< ff > _a |
G- — =, gliss, over several srings S == = _— T mf ——
: hit the lowest srings —
&= o the fingernaills)) hit the I —— V4 3

o g (MTeSmsemas with a hand (palm) »p & -

L3 B 3 - 6 e — i m—— - s = e -

AN /A — -~ /A T 73 -
= 3 ié x Il
j) f> mf I una corda
~

19 T e R L e L T T T - s Tt
9 } & } } T } % /R —— I T T ]
V4% (): Il Ty T Il T T T ‘i LS Ty E Il Il 1
12y r ) % - (7K |~ N é\ /A & |~ = 1
ANIV4 I 3 1= IS 3 I o 1 T ]
D) > ~ 2hed>

P —_— mff ———— PppP m?’ S p

19 MU POMtn - e e e e e e e e e e e e e e - ,

S.V. senza sord.  s.v.

‘, F E I ol % ol /)

T T . 0] = 3 LS L ¢ B 2 T

7 | - o o T T 2 2 /A 2 £ I T T % y /- T
> o & .\ .\ ‘5 -2 x ‘ ,L’ ; q—a\t ‘p‘t = 3 X 5 a\

_—
f mf — p¥_\—/__/\v S — Pp
E——— 1
—— N // 7/

SV senza sord. LM‘

rax t t yio t t t % v a4
) < t t 6— t t % = f
Z o é =i "i = >= =D "i "i - 1

~ i i >

P —_— f —— PP r
&= s------ , 2 Bt
&a--z-- - r l* # ~
) 2~ . e

19n od. @ = ;‘\ o . ord. L £ obe't te £
4 e % y Co— — = % = T y Cu| b e
- 2 73 & 1 o 7 o) — y 2 o~ a1 = 3 T J— = & A ¢ 7
12y I r A T A /i - L 1 /A T T 7 T —T /i L
\J 1 T T ‘\ - x %? d‘ s 3 ’\ ’\ L = T T } x

—jﬁ_ #j\_/ f — e i —
press he string mp —— P f mp 7
sightly mp B - > <
i m strings - - — - . > >
mf (1) v - } o #

rau ro 78 o 51X b Ha ro
| OO s o) - e/ & Vo f O 3 7 o o1 ) e
Z & T /i é S T /A L /i

e x T Il s 3 x
H. ) - ﬁ
gb----—------ S unacorda
" = .
tre corde : .
>
[ e 3 > > )
— v - onthe SIrings — - - — _ - - oo ,
19 . 2oy - /*hg ;&#E .
v'a = - y i P Yol % y -~

A — < - < < Hao /—blo— G — % L —— ¥

18 =/ o/ o/ b | A /A S — s ¥ * X} — % A T -~
VA . Il VA x 1" bl | 1”3 = 3 LS S -

o g == ’ ? ¢ E

— m
:Jg = / f p— f — P < f
mf mp mif° hit the lowest strings
i - with a hand (palm)

rax o T T ral % rcl
) v 2 ] i 3 L0 - 3 — < G—=-

Z L /A (73 T /A T /A
% L — t 4 = 4
;t L H I
mf i e b N .

— i(approx. range)




